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tree

Assume that for all trees n with
sever modes than T, w has one

more node than it has edges.

E
non-inductive

then T has zero edges .

-

- -- ----- -
-

fut w be a tree created by
removing a leaf node v from

T

.

w has fewer modes than T , so by
II w has one more node Man

&

it has edges ,



when I addI backtow to

get T ,

# nodes : up by 1

# edges
:

up by I

# nodes is I more Man # edges
in
T

.



Greedy Algontums-
make the best local decision& -

get an optimaogobal solution
easy to design , but not always
correct

example

Gale-Snapley
Toposort
#FS

h(u
,
v)· =length/
weight

urgage
&(1

,3)
= 15

⑳



sources = 0

target t = C

What is its weight/length ?
9 + 4 + 1 + 11 = 25

BadGreedy (directedweighted graph G, sources,
forgett

start from S

choose shortest edge
keep going until I reach t

Dijkstra/G ,
S
,
thi


